ICS 103 (072)

HW2
Due Date: Tuesday April 8,  2008
Question 1: (30 points) 
  The rate of drilling a well is 20 meters per hour for the first hour. For each subsequent hour the depth drilled is 8 % less than in the previous hour. Write a program to tabulate the depth drilled and the depth reached at the end of each hour.  The total depth to be drilled should read from the user. A sample run of your program is as follows:
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Note: Use do-while loop.  Your depth reached may exceed a little bit the limit entered by the user but should not be less than the limit. 
Question 2: (70 points) 
Write a program to process the orders of breads from a bakery. The first value read by your program represents the number of breads initially available at the bakery. The second value represents the number of orders and each of the values after that represents the number of breads for a particular order. 

After reading each order, your program will satisfy it or not based on the remaining breads in the bakery. 

At the end it should print a summary as shown below in the sample run.
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Instructions:

- Change your WebCT password if you have not done so.  This is your responsibility. Some cheating cases involved students getting to accounts of other students without their knowledge.
-You need to write 2 files quest1.cpp and quest2.cpp (the files you save from the turbo compiler)
-upload the files one by one using the “upload file” button of webct. 

- submit it through WebCT by clicking  “submit assignment” option of webCT.  
This should be no later than Tuesday April 8, 2008 at midnight.
- No group work is allowed.  The homework solution has to be your own work. any cheating will lead to severe consequences. 

